=HHER BRARAERER

SHAEE SHSEE SH6EHE
2BE | BRAe fhE 2BE | BRA a3 2RE | BRA B=

BB B E BB
(N) (N) (%) (N) (N) (%) (N) (N) ()
REZx | 107 27 4.0 KEZE | 108 19 5.7 KEE | 135 24 5.6
—BEH EXE 10 3 3.3 —HEH BRE 6 2 30 —REEK mRE 6 2 3.0
mRE 1" 4 28 ERE 4 2 20 = 6 2 3.0
REET 3 3 1.0 RE2ET 156 9 1.7 —BERE(RHEREERE) | 21 3 70
=k 4 1 4.0 =i 3 3 1.0 R 1 0 —
REL 13 2 6.5 #REL 8 4 20 =i 2 1 20
TAREEA 0 0 — T AREEA 1 1 1.0 REL 4 2 20
TAEEHB 2 1 20 TAEMHB 2 1 20 ERRAM(REFT) 2 1 20
BERMA 0 0 — BEDMA 1 1 1.0 T AREEA 1 1 1.0
BERMB 0 0 - BERMB 0 0 - T AREEB 1 1 1.0
EREAMA 0 0 - TR E R 0 0 - BRERAA 1 0 -
EREMHAB 1 1 1.0 B L (BaKa L) 5 3 1.7 BERAB 0 0 -
WL E AT 0 0 - KEZE 5 3 1.7 L E BT 0 0 -
HB L (BaKe L) 1 1 1.0 HBE(—8) | mXE 4 2 20 AT (BaMa L) 6 1 6.0
KEE 10 3 3.3 mkE 3 1 3.0 KEE 4 2 20
HME (8 | EXE 9 5 1.8 et 165 51 3.2 HBE () | k= 5 2 25
BRE 16 5 3.2 mRE 8 2 4.0
ai 187 56 3.3 at 203 44 4.6
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